





$$\begin{array}{c} \begin{array}{c} \begin{array}{c} & \\ \end{array} \end{array} \end{array} \begin{array}{c} 2-D \ Transformations - Scaling \\ \begin{array}{c} x'_{x} = S_{x} \cdot x \\ y' = S_{y} \cdot y \end{array} \end{array} \begin{array}{c} \left[P' \right] = \left[S \right] \left[P \right] \\ \\ \left[\begin{array}{c} P'_{x} \\ P'_{y} \end{array} \right] = \left[\begin{array}{c} S_{x} & 0 \\ 0 & S_{y} \end{array} \right] \left[\begin{array}{c} P_{x} \\ P_{y} \end{array} \right] = \left[\begin{array}{c} S_{x} \cdot P_{x} \\ S_{y} \cdot P_{y} \end{array} \right] \\ \\ \begin{array}{c} \begin{array}{c} \text{Uniform Scaling} : S_{x} = S_{y} \\ \text{Differential Scaling} : S_{x} \neq S_{y} \end{array} \end{array}$$

























































